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Question 2 
 
7 points (2 + 2 + 1 + 2) 
 
(a) 2 points: 

• One point is earned for determining the total change in reserves: $50 million. 
• One point is earned for calculating the maximum possible change in the money supply:  

10 × $50 = $500 million. 
 
 
 

 
 

(b) 2 points: 
• One point is earned for a correctly labeled graph of the money market. 
• One point is earned for showing a leftward shift of the money supply curve and an increase in the 

nominal interest rate. 
 

(c)  1 point: 
• One point is earned for concluding that the equilibrium price level will fall. 
 

(d)  2 points: 
• One point is earned for concluding that people with a fixed income would be better off. 
• One point is earned for explaining that the lower price level raises real income or increases the 

purchasing power of the fixed income. 
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Question 2 
 
Sample: 2A 
Score: 7 
 
The student earned all 7 points for this question. 
 
Sample: 2B 
Score: 4 
 
The student lost 1 point in part (a)(i) because the answer given is not $50 million. The student lost both 
points in part (d) for concluding that people with fixed incomes would not be affected and for providing an 
incorrect explanation. 
 
Sample: 2C 
Score: 2 
 
The student lost both points for part (a): in part (a)(i) the response given is $5 million rather than  
$50 million, and in part (a)(ii) the response given is $45 million rather than $500 million. In part (b) 1 point 
was lost because the money market graph is not correctly labeled, and the second point was lost because 
there is no leftward shift of the money supply curve, though the interest rate is shown as increasing. The 
student lost 1 point in part (c) because the response is inconsistent with the response given in part (b). 
Both points in part (d) were earned. 


